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SAMPLE PAPER - 2008

Class - X

SUBJECT - MATHEMATICS
Marks:80                                                                                        Time:3Hrs.

                                      SECTION-A
 1)Using fundamental theorm of arithmetic find the HCF and LCM of 4712 and 2232.

                                                                                                                           (248, 42408)

2) Express sec 46- cos 87 in terms of trigonometric ratios of angles between 00 and 450.
3) Prove that √2 is irrational.

4) Prove that  (cosecA – sinA)(secA – CosA) =        1/tanA+ CotA

5) Evaluate Sin246+Sin244.                                     (1)

6)Thousand tickets of a lottery were sold and there are 5 prizes on these tickets.If Saket has purchesed one lottery ticket, what is the probability of winning a prize?  (0.005)

7) Two vertices of a triangle are (3,5) and (-2,4).If the centroid is (5,6) find the co-ordinates of the 3rd vertex.                                                                   (14,9)

8) Find the area of the quadrant of a circle whose circumference is 88cm.   (154cm2)

9) Find volume and surface area of a sphere whose diameter is 14cm.       

                                                                                              (1437.3cm3 ,616cm2 )

10) Using division algorithm find quotient and reminder on deviding 

     8x4+14x3  -2x2  +8x-12 by 4x3+3x-2.                          (2x2+2x-1, 15x-14)

                                         SECTION-B

11) If -4 is a root of the quadratic equation x2+px-4=0 and the quadratic equation

X2 +px+k=0 has equal roots, find k.                             (9/4)

12) Solve 57     +   6     = 5;   38     +   21        = 9         (11,8)
               x+y       x-y            x+y         x-y
13) Draw the graph of 2x+y=6, 2x-y+2=0.  Shade the region bounded by these lines and x axis.Find the area of the shaded region.                              (8 unit2)
14) The 1st term of an AP is 5, theCD of is 3 and last term is 80. Find the number of term.                                                                                                  (26)

15) Prove that           1     -        1       =      1        -           1
                          SecA+tanA  CosA         CosA          SecAtanA

                                   SECTION-C

16) Show that sum of all odd integers between 1 and 1000 which are divisible by 3 is 8366.

17) A child has a dice whose 6 faces shows the letters as given below.

	A
	B
	C
	D
	E
	A


The dice is thrawn once.What is the probability of getting a) A (1/3) b) D (1/6)
18) 5 male and 3 female candidates are available for selection as one manager in a company.Find a probability that  a) a male is selected  (5/8)       b) a female is selected  

                                                                                                                          (3/8)

19) Prove that in an isoscles triangle lengths of two medians are equal.

20) If α, β, γ are roots of polynomial 3x3 +5x2 +8x+2    find the value of 
      α-1+β-1+γ-1.

21) 3 cubes each of side5cm are joined end to end to form a cuboid.Find the surface area of the resulting cuboid.                                    (350cm2)
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23) The length of a tangent from a point A at distance 5cm from the centre of a circle is 4cm.Find the radius of the circle.                                           (3cm)
24) A person invested some amount at the rate of 12% simple interest and some other amount at the rate of 10% simple interest.He received yearly interest of Rs130.But if he interchanged the amount invested he would have received Rs4 more interest.How much amount did he invst at different rates.      (500 at12% and Rs700 at 10%)
25) An aeroplane flying horizontally at a height of 2500m above the ground is observed at an angle of 600.If after 15 seconds the angle of elevation is observed to be 300, find the speed of the plane in km/hr.                                           (692.8km/hr)

                                            SECTION-D

26) Angle of elevation of a cloud from a point 20m above a lake is 38 and angle of depression of its reflection in the lake is 600.Find height of the cloud.    (400m)

27) Draw a circle of radius 6cm.From a point 10cm away from its centre, construct the pair of tangents to the circle and measure their lengths.

28) Using step deviation method calculate A.M.                                             (65.6)
	class
	10-30
	30-50
	50-70
	70-90
	90-110
	110-130
	total

	frequency
	5
	8
	12
	20
	3
	2
	50


29) A cylindrical bucket 32cm high and 18cm of radius of the base is filled with sand.This bucket is emptied on the ground and a conical head of sand is formed.If the height of the conical heap is 24cm, find radius and slant height of the heap.        
                                                                                                                    (36cm,42.27cm)
30) Prove that ┴ at the point of contact to the tangent to a circle passes through the centre and hence prove that from a point P,2 tangents PA and PB are drawn to a circle with centre O.If OP is equal to the diameter of the circle, prove that ∆ PAB is equilateral.
.
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